C:# Checking Division Answers Name:

Check each answer. Determineif the answer is'correct' or 'not'. Answers
/ Division problems can be 263 +8=32r7 182+ 6=29r5 \
checked by multiplying the 39 29 1
quotient by the divisor and then 6
adding the remainder. x 8 X
256 174 2.
If the answer is the same as the + 7 + 5
\_dividend, it is correct. 263 1792@ |3
1) 629:7=8916 2) 821+6=136T15 4
5.
6.
3) 805+4=201r1 4) 814+9=90r1 !
8.
9.
10.
5 931+6=155r1 6) 107+3=35r1
7) 814+5=162r4 8) 134+4=19r1
9 767+5=153r2 10) 163+9=81r1
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Checking Division Answers Name: Answer Key
Check each answer. Determineif the answer is'correct' or 'not'. Answers
/ Division problems can be 263 +8=32r7 182 +6=29r5 \
checked by multiplying the - 29 1 correct
quotient by the divisor and then 6
adding the remainder. x 8 X
256 174 2, correct
If the answer is the same as the + 7 + 5
\_dividend, it is correct. 263 179 Wi E correct
1) 620:7=89r6 89 2) 821:6=136r5 136 4 hot
x 7 *x 6 5. COrrect
623 816
+ 6 + 5 6 not
629 821 .
_ correc
3 805:4=201rl1 201 4) 814:9=90r1 90 !
x 4 * 9 8 not
804 810
+ 1 + 1 9, correct
805 811 o not
5 031+6=155r1 155 6) 107+3=35r1 35
X 6 x 3
930 105
+ 1 + 1
931 106
7) 814+5=162r4 162 8 134+4=19r1 19
X 5 X 4
810 76
+ 4 + 1
814 77
9 767+5=153r2 153 10) 163+9=81r1 81
x 5 x 9
765 729
+ 2 + 1
167 730
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